



## CONSTRUCTION OF A SPLINE FUNCTION WITH MIXED NODE VALUES

Rama Nand Mishra<sup>1</sup>, Akhilesh Kumar Mishra<sup>2</sup>, Kulbhushan Singh<sup>3</sup>

<sup>1</sup>Lecturer, Department of Mathematical and Statistical Science, Shri Ramswaroop Memorial University, Barabanki, U.P., India

<sup>2</sup>Associate Professor, Department of Mathematical and Statistical Science, Shri Ramswaroop Memorial University, Barabanki, U.P., India

<sup>3</sup>Professor, Department of Mathematical and Statistical Science, Shri Ramswaroop Memorial University, Barabanki, U.P., India

Email: <sup>1</sup>ramanandmishra.ids@srmu.ac.in, <sup>2</sup>akhileshmishra.maths@srmu.ac.in,  
<sup>3</sup>kulbhushan.maths@srmu.ac.in

Corresponding Author: **Kulbhushan Singh**

<https://doi.org/10.26782/jmcms.2024.01.00002>

(Received: November 18, 2023; Revised: January 1, 2024; Accepted: January 10, 2024)

---

### Abstract

*The present paper deals with the lacunary interpolation problem called the mixed values problem or  $(0, 3; 0, 2)$  problem for which known data points are function values at all the points, third derivatives at even knots, and second derivatives at odd knots of the unit interval  $I = [0, 1]$ . For this problem, we obtained an interpolating function. The paper is divided into two parts, where we have shown that the spline function exists and is convergent.*

**Keywords:** Lacunary interpolation, spline functions, Taylor expansion, modulus of continuity, error bounds, convergence of function.

---

### I. Introduction

In Mathematics, a spline is a special function defined by piecewise polynomials. In interpolating problems, spline Interpolation is often preferred to polynomial interpolation because it yields similar results, even when using low polynomials. In the computer science subfield of computer-aided design and computer graphics, the term spline more frequently refers to a piecewise polynomial curve. Splines are popular curves because of the simplicity of their construction, their ease and accuracy of evaluation, and their capacity to approximate complex shapes through curve fitting and interactive curve design.

Spline functions are useful for the representation of parametric curves in both interpolatory and B-spline-like forms. Using given continuity conditions and interpolatory data some special types of spline are constructed. These special spline functions are used to construct, design, and control the shape of the curves. Different

*Rama Nand Mishra et al*

parameters in the description of splines can be used for various applications including design in CAD/CAM, font design, image outline capture, multi-resolution, description of motion paths for moving objects such as robots, data visualization, reverse engineering, curve or surface editing, object recognition, and many other engineering fields.

In this paper we have discussed  $(0, 2; 0, 3)$  lacunary interpolation problem where the function value is prescribed at every node of the partition of the unit interval  $[0, 1]$  whereas third and second derivatives are prescribed alternately at even and odd nodes. To solve this problem we construct a quintic spline function.

For more related work one is referred to [II], [V], [XII] [XIII]. Let us denote by  $S_{n,5}^3$ , the class of quintic splines  $s(x)$  on the unit interval  $[0, 1]$  such that

$$(i)s(x) \in C^3 [0, 1]$$

$$(ii)s(x) \in \pi_5 \text{ on each } [v/n, (v+1)/n], 0 \leq v \leq n-1.$$

We shall prove the following theorems.

## II. Theorem 1

For every odd integer  $n$  and even node, we take second derivatives at even nodes and third derivative at odd nodes  $f_0, f_2, \dots, f_n; f_0'', f_2'', f_4'' \dots, f_{n-2}''; f_1''', f_3''', \dots, f_{n-1}'''; f_0'''; f_n'$  there exists a unique splines  $(x) \in S_{n,5}^{(3)}$  such that

$$s(k/n) = f_k; \quad k = 0, 1, \dots, n, \quad (1.1)$$

$$s''(2k/n) = f_{2k}''; \quad k = 0, 1, \dots, (n-1)/2, \quad (1.2)$$

$$s'''((2k+1)/n) = f_{2k+1}'''; \quad k = 0, 1, \dots, (n-1)/2. \quad (1.3)$$

$$s'(0) = f_0', s'(1) = f_n' \quad (1.4)$$

## III. Theorem 2

Let  $f \in C^4 [0, 1]$  and  $n$  be an odd integer. Then for the unique quintic spline  $S_n(x)$  satisfying conditions of Theorem 1 with

$$f_k = f(k/n), \quad k = 0, 1, \dots, n,$$

$$f_{2k}'' = f''(2k/n), \quad k = 0, 1, \dots, (n-1)/2,$$

$$f_{2k+1}''' = f'''(2k+1/n), \quad k = 0, 1, \dots, (n-1)/2,$$

$$f_0' = f'(0) \quad \text{and} \quad f_n' = f'(1);$$

We have

$$\|S_n^r(x) - f^r(x)\|_\infty \leq K_v n^{r-3} \omega_4\left(\frac{1}{n}\right) + 2n^{r-4} \|f^4\|_\infty \quad (2.1)$$

Here  $K_v$  are different constants depending on  $k$  and  $\omega_4(\cdot)$  denotes the modulus of continuity of  $f^{(4)}$ .

#### IV. Preliminaries

It can be verified that if  $P(x)$  is a quantic on  $[0,1]$  then

$$P(x) = P(0) A_0(x) + P(1) A_1(x) + P'_0(0) A_2(x) + P'(1) A_3(x) + P''(0) A_4(x) + P'''(1) A_5(x). \quad (3.1)$$

Where

$$\begin{aligned} A_0(x) &= 3/2 x^5 - 5/2 x^4 + 1, \\ A_1(x) &= 1/3 (8x^5 - 25x^4 + 20 x^3), \\ A_2(x) &= 1/3 (-5x^5 + 16 x^4 - 14 x^3 + 3x), \\ A_3(x) &= -x^5 + 3x^4 - 2x^3, \\ A_4(x) &= 1/6 (-2x^5 + 7 x^4 - 8 x^3 - 3x^2), \\ A_5(x) &= 1/18 (x^5 - 2 x^4 + x^3). \end{aligned}$$

A quintic  $Q(x)$  on  $[1, 2]$  can be expressed as

$$\begin{aligned} Q(x) &= Q(2) A_0(2-x) + Q(1) A_1(2-x) \\ &+ Q'(2) A_2(2-x) + Q''(1) A_3(2-x) + \\ &+ Q'''(2) A_4(2-x) + Q''(1) A_5(2-x). \end{aligned} \quad (3.2)$$

For later reference, we note that:

$A'_0(0) = 0,$	$A''_0(0) = 0,$	$A'''_0(0) = 0,$	$A^4_0(0) = -60,$	$A^5_0(0) = 180,$
$A'_0(1) = 5/2,$	$A''_0(1) = 0,$	$A'''_0(1) = 30,$	$A^4_0(1) = 60,$	$A^5_0(1) = 180,$
$A'_1(0) = 0,$	$A''_1(0) = 0,$	$A'''_1(0) = 0,$	$A^4_1(0) = -200,$	$A^5_1(0) = 320,$
$A'_1(1) = 0,$	$A''_1(1) = -20/3$	$A'''_1(1) = 0,$	$A^4_1(1) = 120,$	$A^5_1(1) = 320,$
$A'_2(0) = 1,$	$A''_2(0) = 0,$	$A'''_2(0) = -28,$	$A^4_2(0) = 128,$	$A^5_2(0) = -200,$
$A'_2(1) = 0,$	$A''_2(1) = 8/3,$	$A'''_2(1) = 0,$	$A^4_2(1) = -72,$	$A^5_2(1) = -200,$
$A'_3(0) = 0,$	$A''_3(0) = 0,$	$A'''_3(0) = -12,$	$A^4_3(0) = 72,$	$A^5_3(0) = -120,$
$A'_3(1) = 1,$	$A''_3(1) = 4,$	$A'''_3(1) = 0,$	$A^4_3(1) = -48,$	$A^5_3(1) = -120,$
$A'_4(0) = 0,$	$A''_4(0) = -1,$	$A'''_4(0) = -8,$	$A^4_4(0) = 28,$	$A^5_4(0) = -40,$
$A'_4(1) = -2,$	$A''_4(1) = -5/3,$	$A'''_4(1) = 0,$	$A^4_4(1) = -12,$	$A^5_4(1) = -40,$
$A'_5(0) = 0,$	$A''_5(0) = 0,$	$A'''_5(0) = 1/3,$	$A^4_5(0) = -8/3,$	$A^5_5(0) = 20/3,$
$A'_5(1) = 0,$	$A''_5(1) = 1/9,$	$A'''_5(1) = 1,$	$A^4_5(1) = 4,$	$A^5_5(1) = 20/3,$

Equation (3.3)

A quintic  $P(x)$  in  $[0,1]$  can be expressed in the following form.

$$\begin{aligned} P(x) = & P(0) B_0(x) + P(1) B_1(x) + P'(0) B_2(x) + P'(1) B_3(x) + \\ & + P''(0) B_4(x) + P'''(1) B_5(x) \end{aligned} \quad (3.4)$$

Where

$$\begin{aligned} B_0(x) &= 1/3(-8x^5 + 25x^4 - 20x^3), \\ B_1(x) &= 1/3(8x^5 - 25x^4 + 20x^3), \\ B_2(x) &= 1/3(-5x^5 + 16x^4 - 14x^3 + 3x), \\ B_3(x) &= (-x^5 + 3x^4 - 2x^3), \\ B_4(x) &= 1/2(2x^5 - 3x^4 + 2x^2), \\ B_5(x) &= 1/6(-7x^5 + 6x^4 + x^3), \end{aligned}$$

Also, a quintic  $Q(x)$  in  $[1, 2]$  can be written as

$$\begin{aligned} Q(x) = & Q(2)B_0(2-x) + Q(1)B_1(2-x) - Q'(2)B_2(2-x) - Q'(1)B_3(2-x) - \\ & Q''(2)B_4(2-x) + Q''(1)B_5(2-x) \end{aligned} \quad (3.5)$$

For later reference we have

$B'_0(0) = 0$	$B''_0(0) = 0$	$B'''_0(0) = -120/3$	$B_0^{(4)}(0) = 200$
$B'_0(1) = 0$	$B''_0(1) = 20/3$	$B'''_0(1) = 0$	$B_0^{(4)}(1) = -120$
$B'_1(0) = 0$	$B''_1(0) = 0$	$B'''_1(0) = 40$	$B_1^{(4)}(0) = -200$
$B'_1(1) = 0$	$B''_1(1) = -20/3$	$B'''_1(1) = 0$	$B_1^{(4)}(1) = 120$
$B'_2(0) = 1$	$B''_2(0) = 0$	$B'''_2(0) = -28$	$B_2^{(4)}(0) = 128$
$B'_2(1) = 0$	$B''_2(1) = 8/3$	$B'''_2(1) = 0$	$B_2^{(4)}(1) = -72$
$B'_3(0) = 0$	$B''_3(0) = 0$	$B'''_3(0) = -12$	$B_3^{(4)}(0) = 72$
$B'_3(1) = 1$	$B''_3(1) = 4$	$B'''_3(1) = 0$	$B_3^{(4)}(1) = -48$
$B'_4(0) = 0$	$B''_4(0) = 2$	$B'''_4(0) = 0$	$B_4^{(4)}(0) = -36$
$B'_4(1) = 1$	$B''_4(1) = 4$	$B'''_4(1) = 24$	$B_4^{(4)}(1) = 84$
$B'_5(0) = 0$	$B''_5(0) = 0$	$B'''_5(0) = 1$	$B_5^{(4)}(1) = 24$
$B'_5(1) = -4/3$	$B''_5(1) = -31/3$	$B'''_5(1) = -45$	$B_5^{(4)}(1) = -232$

(3.6)

Using equation (3.4) and (3.6) we have

$$P'''(0) = -120/3P(0) + 40P(1) - 28P'(0) - 12P'(1) + 0.P'''(0) + 1.P''(1) \quad (3.7)$$

$$P''(1) = 20/3P(0) - 20/3P(1) + 8/3P'(0) + 4P'(1) + 4.P'''(0) - 31/3P''(1) \quad (3.8)$$

$$P^4(0) = 200P(0) - 200P(1) + 128P'(0) + 72P'(1) - 36P'''(0) + 24P''(1) \quad (3.9)$$

$$P^4(1) = -120P(0) + 120P(1) - 72P'(0) - 48P'(1) + 84P'''(0) - 232P''(1) \quad (3.10)$$

Similarly from equation (3.5) and (3.6), we get

$$Q'''(2) = -120/3Q(2) + 4Q(1) - 28Q(2) - 12Q(1) + 0.Q(2) + 1.Q(1) \quad (3.11)$$

$$Q''(2) = -\frac{20}{3}Q(2) - \frac{20}{3}Q(1) + \frac{8}{3}Q(2) + 4Q(1) + 4Q(2) - 31/3Q(1) \quad (3.12)$$

$$Q^4(2) = 200Q(2) - 200Q(1) + 128Q(2) + 72Q(1) - 36Q(2) + 24Q(1) \quad (3.13)$$

$$Q^4(1) = 120Q(2) + 120Q(1) - 72Q(2) - 48Q(1) + 84Q(2) - 232Q(1) \quad (3.14)$$

### Proof of Theorem 1

For a given  $s(x) \in S_{n,5}^{(3)}$  set  $h = 1/n$  and

$$M_v = s^{(4)}(vh), \quad v = 0, 1, \dots, n-1,$$

$$N_v = s^{(4)}(v h -), \quad v = 0, 1, \dots, n.$$

Since  $S^{(4)}(x)$  is linear in each interval  $[vh, (v+1)h]$ , it is completely determined by the  $2n$  constants  $\{M_v\}_{v=0}^{n-1}$  and  $\{N_v\}_{v=1}^n$ . Also if  $s(x)$  satisfies the requirements of theorem 1, it follows from equations (1.1)– (1.3) and (3.1) – (3.2) that for

$2vh \leq x \leq (2v+1)h$ ,  $v = 0, 1, \dots, (n-1)/2$ , it must have the form

$$S(x) = f_{2v}A_0\left(\frac{(2v+1)h-x}{h}\right) + f_{2v+1}A_0\left(\frac{(x-2vh)}{h}\right) + h^2f_{2v}''A_1\left(\frac{(x-2vh)}{h}\right) + h^2f_{2v+1}''A_2\left(\frac{(x-2vh)}{h}\right) + h^4M_{2v}A_3\left(\frac{(x-2vh)}{h}\right) + h^4N_{2v+1}A_4\left(\frac{(x-2vh)}{h}\right) \quad (4.1)$$

$$S'(x) = f_0A_0'(1) + f_1A_0'(0) + h^2f_0''A_1'(0) + h^2f_1''A_2'(0) + h^4M_0A_3'(0) + h^4N_1A_4'(0)$$

$$f_0' = \frac{1}{120}\{(f_0 + f_1) + 40h^2f_0'' + 60h^2f_1'' + 16h^4M_0 + 9h^4N_1\}$$

$$\frac{h^4}{120}(16M_0 + 9N_1) = f_0' - f_0 - f_1 + \frac{1}{3}h^2f_0'' + \frac{1}{2}h^2f_1''$$

For  $(2v+1)h \leq 3/2$

$$S(x) = f_{2v+1}A_0\left(\frac{(2v+2)h-x}{h}\right) + f_{2v+2}A_0\left(\frac{x-(2v+1)h}{h}\right) + \\ h^2f_{2v+2}''A_1\left(\frac{(2v+2)h-x}{h}\right) + h^2f_{2v+1}''A_2\left(\frac{(2v+2)h-x}{h}\right) + \\ h^4M_{2v+2}A_3\left(\frac{(2v+2)h-x}{h}\right) + h^4N_{2v+1}A_4\left(\frac{(2v+2)h-x}{h}\right) \quad (4.2)$$

Since  $S^4(0) = f_0^4$ , therefore equation (1.1) implies

Putting  $x = (2v+1)h$ ,  $v = 0$ ,

$$S(x) = f_{2v}A_0(1) + f_{2v+1}A_0(0) + h^2f_{2v}''A_1(0) + h^2f_{2v+1}''A_2(0) + \\ h^4M_{2v}A_3(0) + h^4N_{2v+1}A_4(0) \\ S^4(0) = f_0A_0^4(1) + f_1A_0^4(0) + h^2f_0''A_1^4(0) + h^2f_1''A_2^4(0) + h^4M_0A_3^4(0) + h^4N_1A_4^4(0) \\ S^4(0) = 60f_0 - 60f_1 - 200h^2f_0'' + 128h^2f_1'' + 28h^4M_0 + 72h^4N_1 \\ f^4(0) = 60f_0 - 60f_1 - 200h^2f_0'' + 128h^2f_1'' + 28h^4M_0 + 72h^4N_1 \\ 28M_0 + 72N_1 = h^{-4}(f^4(0) - 60f_0 + 60f_1 + 200h^2f_0'' - 128h^2f_1'') \quad (4.3)$$

Similarly using conditions,  $S^4(0) = f_0^4$  we have from equation (4.2)

$$S^4(1) = f_{n-1}A_0^4(0) + f_nA_0^4(1) + h^2f_{n-1}''A_1^4(1) + h^2f_n''A_2^4(1) + h^4M_{n-1}A_3^4(1) + h^4N_nA_4^4(1) \\ S^4(1) = -60f_{n-1} + 60f_n + 120h^2f_{n-1}'' - 72h^2f_n'' - 12h^4M_{n-1} - 48h^4N_nA_3^4(1)$$

As taking,  $S^4(n) = f^4(n)$

$$f^4(n) = -60f_{n-1} + 60f_n + 120h^2f_{n-1}'' - 72h^2f_n'' - 12h^4M_{n-1} - 48h^4N_n \\ 12M_{n-1} + 48N_n = -h^{-4}[f^4(n) + 60f_{n-1} - 60f_n - 120h^2f_{n-1}'' + 72h^2f_n''] \quad (4.4)$$

Also using,  $S((2v+1)/h) = S((2v+1)/h)$

$$S(x) = S((2v+1)/h) = f_{2v}A_0(0) + f_{2v+1}A_0(1) + h^2f_{2v}''A_1(1) + \\ h^2f_{2v+1}''A_2(1) + h^4M_{2v}A_3(1) + h^4N_{2v+1}A_4(1) \\ S^4(x) = S^4((2v+1)/h) = -60f_{2v} + 60f_{2v+1} + 120h^2f_{2v}'' - \\ 72h^2f_{2v+1}'' + 48h^4M_{2v} - 12h^4N_{2v+1} \quad (4.5)$$

And

$$\begin{aligned}
 S(x) &= S^4((2v+1)/h) + \\
 &= f_{2v} A_0(1) + f_{2v+1} A_0(0) + h^2 f''_{2v} A_1(0) + h^2 f''_{2v+1} A_2(0) \\
 &\quad + h^4 M_{2v} A_3(0) + h^4 N_{2v+1} A_4(0) \\
 S^4(x) &= f_{2v} A_0^4(1) + f_{2v+1} A_0^4(0) + h^2 f''_{2v} A_1^4(0) + h^2 f''_{2v+1} A_2^4(0) \\
 &\quad + h^4 M_{2v} A_3^4(0) + h^4 N_{2v+1} A_4^4(0) \\
 S^4(x) &= 60f_{2v} - 60f_{2v+1} - 200h^2 f''_{2v+1} + 128 h^2 f''_{2v+1} + 72h^4 M_{2v} + \\
 &\quad 28h^4 N_{2v+1} A_4^4(0) \tag{4.6}
 \end{aligned}$$

From (4.5) and (4.6),

$$3M_{2v} + N_{2v+1} = h^{-4}[-3f_{2v} + 3f_{2v+1} + 8h^2 f''_{2v+1} - 5h^2 f''_{2v+1}] \tag{4.7}$$

Similarly from  $S^4((2v+2)/h-) = S^4((2v+2)/h+)$

And

$$S^4((2v+2)/h-) = S^4((2v+2)/h+),$$

we get

$$\begin{aligned}
 &S^4(2v+2)/h-) S^4(2v+2)/h+) \\
 &= f_{2v+1} A_0(0) + f_{2v+2} A_0(1) + h^2 f''_{2v+2} A_1(1) \\
 &\quad + h^2 f''_{2v+1} A_2(1) + h^4 N_{2v+2} A_3(1) + h^4 M_{2v+1} A_4(1) \\
 S^4(x) &= f_{2v+1} A_0^4(0) + f_{2v+2} A_0^4(1) + h^2 f''_{2v+2} A_1^4(1) + \\
 &h^2 f''_{2v+1} A_2^4(1) + h^4 N_{2v+2} A_3^4(1) + h^4 M_{2v+1} A_4^4(1) \\
 S^4(x) &= -60f_{2v+1} + 60f_{2v+2} + 120h^2 f''_{2v+2} - 72h^2 f''_{2v+1} - \\
 &\quad 48h^4 N_{2v+2} - 12h^4 M_{2v+1} \tag{4.8}
 \end{aligned}$$

Similarly

$$\begin{aligned}
 S^4((2v+2)/h+) &= f_{2v+1} A_0^4(1) + f_{2v+2} A_0^4(0) + h^2 f''_{2v+2} A_1^4(0) + \\
 &h^2 f''_{2v+1} A_2^4(0) + h^4 N_{2v+2} A_3^4(0) + h^4 M_{2v+1} A_4^4(0) \\
 S^4(x) &= 60f_{2v+1} - 60f_{2v+2} - 200h^2 f''_{2v+2} + 128 h^2 f''_{2v+1} + \\
 &\quad 72h^4 N_{2v+2} + 28M_{2v+1} \tag{4.9}
 \end{aligned}$$

From (4.8) and (4.9)

$$120h^4N_{2\nu+2} + 40M_{2\nu+1} = 120f_{2\nu+1} - 120f_{2\nu+2} - 320h^2f''_{2\nu+2} + 200h^2f''_{2\nu+1}$$

$$h^4[3N_{2\nu+2} + M_{2\nu+1}] = 3f_{2\nu+1} - 3f_{2\nu+2} - 8h^2f''_{2\nu+2} + 5h^2f''_{2\nu+1}$$

$$\left[ 3N_{2\nu+2} + M_{2\nu+1} \right] = h^{-4}[3f_{2\nu+1} - 3f_{2\nu+2} - 8h^2f''_{2\nu+2} + 5h^2f''_{2\nu+1}]$$

From these equations (4.5), (4.7)....., we see that constants  $M_n$  and  $N_n$  all are zero.

Which completes the proof of theorem 1.

#### V. Lemma 1

Let  $f \in C^4 [0,1]$ ,  $n$  any odd integer and  $h = 1/n$ . Then for the unique spline  $S_n(x)$  Theorem (1),

We have

$$\begin{aligned} |A_{2\nu}| &= |S_n(2\nu h) - f'(2\nu h)| \\ &= O(h^2/18 \omega_4(h)), \quad \nu = 0, 1, \dots, (n-1)/2 \end{aligned} \quad (5.1)$$

and

$$\begin{aligned} |A_{2\nu+1}| &= |S_n'((2\nu+1)h) - f'((2\nu+1)h)| \\ &= O(h^2 \omega_3(h)), \quad \nu = 0, 1, \dots, (n-1)/2 \end{aligned} \quad (5.2)$$

Where  $O$  are the different constants depending on  $\nu$ .

#### VI. Lemma 2

Let  $f \in C^4 [0, 1]$ ,  $n$  any odd integer and  $h = 1/n$ . Then for  $s_n(x) = S_n(f, x)$  of theorem 1, we have

$$\begin{aligned} |S^4((2\nu+1)h) - f^4_{2\nu+1}| &= O(\omega_4(h)), \\ |M_{2\nu} - N_{2\nu+1}| &= O\left(\frac{1}{h} \omega_4(h)\right), \end{aligned} \quad (5.3)$$

where  $O$  are different constants depending on  $\nu$ .

#### VI. Proof of Theorem 2

For  $2\nu h \leq x \leq (2\nu+1)h$ ,  $\nu = 0, 1, \dots, (n-1)/2$ , we have from equation (1.5)

$$\begin{aligned} s^{(4)}(x) &= s^{(4)}(2\nu h)A_0 \frac{((2\nu+1)h - x)}{h} + s^{(4)}((2\nu+1)h)A_0 \frac{(x - 2\nu h)}{h} \\ &\quad + h^2 s^{(5)}(2\nu h)A_1 \frac{(x - 2\nu h)}{h} \end{aligned}$$



$$\begin{aligned}
 s^{(4)}(x) &= f_{2\nu} A_0^{(4)}(1) + f_{2\nu+1} A_0^{(4)}(0) + h^2 f_{2\nu}'' A_1^{(4)}(0) + h^2 f_{2\nu+1}'' A_2^{(4)}(0) + \\
 &\quad h^4 M_{2\nu} A_3^{(4)}(0) + h^4 N_{2\nu+1} A_4^{(4)}(0) \\
 &= 60f_{2\nu} - 60f_{2\nu+1} - 200 h^2 f_{2\nu+1}'' + 128 h^2 f_{2\nu+1}'' + 72 h^4 M_{2\nu} + \\
 &\quad + 28 h^4 N_{2\nu+1}
 \end{aligned} \tag{6.1}$$

Now from equation (1.5) and (P.3) we have

$$s^{(5)}(2\nu h +) = -h^{-1} (M_{2\nu} - N_{2\nu+1}).$$

Since

$$A_0 \frac{((2\nu+1)h-x)}{h} + A_0 \frac{(x-2\nu h)}{h} = 1,$$

We have

$$\begin{aligned}
 s^{(4)}(x) - f^{(4)}(x) &= (s'''(2\nu h +) - f'''(x)) A_0 \frac{((2\nu+1)h-x)}{h} + \\
 &\quad + (s'''((2\nu+1)h-) - f'''(x)) A_0 \frac{(x-2\nu h)}{h} - \\
 &\quad - h(M_{2\nu} - N_{2\nu+1}) A_1 \frac{(x-2\nu h)}{h}. \\
 &= I_1 + I_2 + I_3, \quad \text{say.}
 \end{aligned} \tag{6.2}$$

Here  $|A_0| \leq 1$ ,  $|A_1| \leq 1$ .

$$\begin{aligned}
 |I_1| &= |s'''(2\nu h +) - f'''(x)| \\
 &= |s'''(2\nu h +) - f'''(2\nu h) + (x-2\nu h)f^{(4)}(\alpha)|, \quad 2\nu h \leq \alpha \leq x \\
 &= |s'''(2\nu h +) - f'''(2\nu h)| + h\Omega, \quad \text{where } \Omega = \|f^{(4)}\|_\infty
 \end{aligned}$$

Or

$$|I_1| \leq h\Omega. \tag{6.3}$$

$$\begin{aligned}
 |I_2| &= |s'''(2\nu h + 1)h -) - f'''(x)| \\
 &= |s'''(2\nu h + 1) - f'''(2\nu h + 1) + (x-(2\nu+1)h)f^{(4)}(\beta)|, \\
 &\quad (2\nu+1)h \leq \beta \leq x.
 \end{aligned}$$

Using Lemma 2, we have

$$|I_2| \leq K_{1,\nu} \omega_4(h) + h\Omega \tag{6.4}$$

and

$$\begin{aligned}
 |I_3| &= -h(M_{2\nu} - N_{2\nu+1}) \\
 |I_3| &\leq K_{2,\nu} \omega_4(h).
 \end{aligned} \tag{6.5}$$

*Rama Nand Mishra et al*

Thus from equations (2.2) – (2.5) we have the theorem for

$2vh \leq x \leq (2v+1)h$  and  $r = 3$ .

Further let  $(2v+1)h \leq x \leq (2v+2)h$ ,  $v = 0, 1, \dots, (n-3)/2$ .

From equation (1.6) we have

$$\begin{aligned} s'''(x) = & s'''((2v+1)h) A_0 \frac{((2v+2)h - x)}{h} + s''''((2v+2)h) A_0 \frac{(x - (2v+1)h)}{h} + \\ & + h^2 s^{(5)}((2v+2)h) A_1 \frac{((2v+2)h - x)}{h}. \end{aligned}$$

Using equations (1.5) and (1.3) we get

$$\begin{aligned} s'''(x) = & s'''((2v+1)h) A_0 \frac{((2v+2)h - x)}{h} + s''''((2v+2)h) A_0 \frac{(x - (2v+1)h)}{h} + \\ & + h (M_{2v+1} - N_{2v+2}) A_1 \frac{((2v+2)h - x)}{h}. \end{aligned}$$

Following similar arguments, we can prove the result for

$(2v+1)h \leq x \leq (2v+2)h$  and  $r = 3$ .

Next for  $r = 0, 1, 2$ , using interpolatory condition we can write

$$\begin{aligned} |s''(x) - f''(x)| &= \left| \int_x^{(2v+1)h} (s'''(t) - f'''(t)) dt \right| \\ &\leq \int_x^{(2v+1)h} |s'''(t) - f'''(t)| dt \\ &\leq K_{1,v} h \omega_4(h). \end{aligned}$$

Also we can write

$$|s'(x) - f'(x)| = \left| \int_{\lambda}^x (s''(t) - f''(t)) dt \right|, \quad vh \leq \lambda \leq (v+1)h,$$

Therefore,

$$\begin{aligned} |s'(x) - f'(x)| &\leq h |s''(t) - f''(t)| \\ &\leq K_{1,v} h^2 \omega_4(h). \end{aligned}$$

Similarly,

$$\begin{aligned} |s(x) - f(x)| &= \left| \int_{2vh}^x (s'(t) - f'(t)) dt \right| \\ &\leq K_{1,v} h^3 \omega_4(h). \end{aligned}$$

This proves Theorem 2 completely.

*Rama Nand Mishra et al*

## **VII. Conclusion:**

We have proved here the considered interpolation problem  $(0,3 ; 0,2)$  by showing the unique existence of it. Then we found the error bounds and showed that the derived spline function is convergent also. Based on the above problem one can construct different types of spline functions which can approximate a given function with given interpolatory and few known data points.

## **VIII. Scope and Significance of the result:**

In the same way, we can use Spline functions for solving many lacunary interpolation problems for computer animation and design. Also, we noticed that the interpolation technique is useful for image processing.

Spline functions are useful in various fields like data smoothing, curve fitting, Computer-aided design, computer graphics, Numerical analysis, signal processing, data reconstruction, finite element analysis, and path planning. Collectively we can say that spline interpolation is a versatile and widely used technique with applications across various disciplines.

## **IX. Acknowledgements:**

Here we need to acknowledge the authors of the research papers we referred which gave us an idea to solve lacunary interpolation problems. We are thankful to some of our department colleagues for their time-to-time cooperation in academics-related work during the writing of this research paper. As this a combined research work we all three are thankful to each other for the harmonious collaboration to obtain constructive research findings and to reach the required result.

## **Conflict of Interest:**

There was no relevant conflict of interest regarding this paper.

## **References**

- I. Ahlberg, J. H. Nilson, E. N. and Walsh, J. L. The theory of Splines and their Applications, Academic Press, New York, 1967.
- II. Burkett, J. and Verma, A.K. On Birkhoff Interpolation  $(0;2)$  case, Aprox. Theory and its Appl. (N.S.) 11(2), 59-66, 1995.
- III. Carl de Boor, A Practical Guide to splines, Springer-Verlag, 1978B.
- IV. Davis, P. J. Interpolation and Approximation, Blaisdell Publishing Co., New York, 1965.

*Rama Nand Mishra et al*

- V. Mathur, K. K. and Anjula Saxena, Odd degree splines of higher order, Acta Math. Hung., 62 (3 - 4), 263 – 275,1993.
- VI. Prasad, J. and Verma, A.K, Lacunary interpolation by quintic splines SIAMJ. Numer.Anal.16, 1075-1079, 1979.
- VII. Saxena R.B.,On mixed type Lacunary Interpolation II,Acta.Math.Acad.Sci.Hung.14, 1-19, 1963.
- VIII. Saxena R.B.,On mixed type Lacunary Interpolation II,Acta.Math.Acad.Sci.Hung.14, 1-19, 1963.
- IX. SallamS.On interpolation by quintic Spline, Bull. Fac.Sci.Assiut.Univ,11(1), 97- 106,1982.
- X. Saxena R.B. and Joshi T.C., On quartic spline Interpolation Ganita 33, No. 2, 97-111. 1982.
- XI. Saxena Anjula, Birkhoff interpolation by quantic spline, Annales Univ. Sci. Budapest,33, 000-000, 1990.
- XII. Singh Kulbhushan, Interpolation by quartic splines African Jour. of Math. And Comp. Sci. Vol. 4 (10), pp.329 - 333, ISSN 2006-9731, 15 September, 2011.
- XIII. Singh Kulbhushan, Lacunary odd degree splines of higher order, Proceedings of Conference: Mathematical Science and Applications, Abu Dhabi, UAE, Dec. 26-30, 2012.